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§1

My intention in this short article is to transform through simpler differential equations
the problem of the Navier-Stokes equations, described especially on Clay Institute page [1], in
order to make a more understandable, easy and acceptable solution.

The options we perceive as able to be solved among the four alternatives available in
[1] are the proofs of the inexistence (breakdown of) solutions for the Navier-Stokes equations,
which correspond to cases (C) and (D) described in [1], being the first of these cases referred to
the solutions in general and the second specific to the spatially periodic solutions. The problem
as proposed is restricted to n = 3 spatial dimensions.

Our preliminary studies on the subject have been taken in [2] and in abbreviated form
in [3], and here we intend to further summarize our conclusions on these equations in a small
basic "standard" demonstration, acceptable even to be a demonstration to (eventually) be
given as response to a question of university discipline without spending hours and hours in
your solution or pages and pages in the demonstration, but as accurate as possible. Purposely
this is an article that can be considered small, adequate (we believe) to a student of
engineering, but also to the students of physics, meteorology, oceanography, geophysics,
astronomy and even mathematics. We understand the practical importance of this subject.

The Navier-Stokes equation in vector form may be written as
ou 2
(1) E+(u-7)u=vl7u—l7p+F,

for u, F: R™ X [0,0) > R"™ and p: R X [0,0) = R, where u is the velocity of the fluid, F
the external "force" applied (e.g. gravity), p the pressure and v is the coefficient (constant) of
viscosity, measurements made in position x € R™ and time t > 0, t € R (called by habit
Navier-Stokes equations in the plural when we think on the respective equations of its
componentsi,1 <i < n).
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It is often joined to (1) the condition of incompressibility (constant mass density in the
equation of continuity)

p O dw | dup  dus
=19x; — 8x,  0x,  0x3

(2) Viu=Y =0 (n=3),

condition that must also be satisfied for conform to [1]. In what follows it will be understood
that we are referring always to the spatial dimensionn = 3.

Another way of writing (1) is
(3) szszu—%—(u-V)u+F=<p+F=¢.
Calling the right side of (3) by ¢ the solution of (3) for p, when available, is given by

4 p=[ ¢-di+6),

where L is a continuous path by parts of class C! which goes from x, to x with x,,x € R3.
Suppose 6 continuous, limited and differentiable at t = 0. We also assume that L does not
pass by any singularities of ¢.

From (3) we see immediately that (1) can be transformed into the simplest differential
equation

(5)  Vp=2¢, ¢(x,1): R® x [0,00) > R?,

that will only have solution if ¢ is a gradient field, i.e., conservative, and its solution in this case
is (4). The reference [4] contains the basic theory of gradient fields.

Our central problem can then be written as, symbolically and as a question (a logical
sentence and a question mark):

(P1)  3¢°(x) = ¢(x,0), A(¢,p)/ Vp = ¢?

If $°(x) is a non-gradient field then ¢ (x, t) is not a gradient field at t = 0, then (at
least) at t = 0 there is no solution for ¢ = Vp, whatever is ¢(x,t) with ¢(x,0) = ¢°(x) no
gradient.

The answer to (P1) is Yes, and we would have to seek some non-gradient ¢°(x) to
illustrate the truth of the logic sentence. See that we can find many examples of functions
¢(x,t), including to be worth ¢°(x) = ¢(x,0), but what will not exist using our example is
the function p. In our proof the function ¢ (x, t) must exist so that there is also ¢°(x), and
thus proving the inexistence of p.

A logical equivalence that represents the inexistence of the pair of variables (¢, p) as
used in (P1) is

(6)  A(p,p) « (FPAIPIV(EP AAP)V(AP A ED)),

and of three possible alternatives described above to prove the absence of the pair (¢, p) we
chose the existence of ¢ with the inexistence of p, i.e.
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(7)  @¢Adp) - A(d,p).

In this and on the problems that follow assume that p: R3 x [0,0) — R is a scalar
function and all other functions are vectors with image in R3.

§ 2

A variant of (P1) is given by the problem (P2) below.

(P2)  3¢°(x) = @(x,0),3F(x,t),A(p,p)/ Vp = ¢ + F?

Let us seek again the breakdown of the solutions in t = 0. If $° = ¢° + F(x,0) is not
gradient then in ¢ = 0 the equation Vp = ¢ + F will have no solution, the case of breakdown
solutions. Answer: Yes, and for that the logic sentence in (P2) show it is true we should seek
¢°(x) and F(x, t) whose respective sum at t = 0 results in a non-gradient field.

§ 3

Our third problem is an easy version of (3), where Vp is replaced by P, with
P:R3 X [0,0) - R3,

(P3)  Fu°(x) = u(x,0),3F(x,t),4(u,P)/ P =v V?u — % —(u-V)u+F?

Unlike the two previous answers, this time the answer is No. Assuming that the
ou
at
u(x,0) = u®(x) there are the partial derivatives of u with respect to the spatial coordinates

until second order and with respect to time up to the first order and that there is a

operation vV?u———(u-V)u+F can be computed, i.e., that for all u(x,t) with

corresponding computable value for P, then there are always u and P satisfying the
differential equation given in (P3) in a very obvious way. Given u with u(x,0) = u° then P,
ultimately, is the result of an algebraic computation, regardless of how complicated the
involved derivations are, i.e., it is a false statement A(u, P) in (P3). Does not seem to be the
focus of [1] the search for a "pathological" function, some strange function, rare, for u®, u or F
such that the equation given in (1) cannot even be computed (with the possible except V'p). On
the contrary, [1] is concerned with functions and physically reasonable solutions, and lists
several conditions that must be obeyed by u°,u, F, p.

§ 4

Here we treat the main problem, which corresponds to a necessary condition for the
absence of solution (3), and consequently to (1). It is one of the proofs that we intend to give
as acceptable standard.

(P4)  Fu°(x) = u(x,0),3F(x,t),a(u,p)/ Vp = v V?u — % —(Ww-VYu+F?

If 3u°(x) = u(x, 0) then there must be u(x, t) at least int = 0. As we seek solutions
for (1) throughout all t >0 then we can assume the existence of u(x,t) in t =0,
hypothetically. Moreover, the original problem in [1] defines the domain D(u) of u is



R3 X [0, ), so can assume by hypothesis the existence of u for all t > 0,t € R, and for all
x € R3.

The statement A(u,p) does not imply only in (Au A #Ap). We will choose to find a
vector field velocity u, with u(x,0) = u° given, such that there is some pressure p that
satisfies the differential equation given in (P4), equal to (3).

Thus, we arrive at

(Fu(x) = ulx, 0))A(D(w) = R3 x [0,%0)) - Ju: R3 x [0, )
(P4)  (FuAdp) - A(w,p) /Vp =v V?u —%— u-V)u+F =o¢.

If the field ¢ in (P4’) is non-gradient then there is no p that satisfies the equation
required, and there are infinite examples u°, u, F which can be given such that result in non-
gradients fields ¢. The simplest example are the velocities u(x,t) = u®(x) = 0, and thus it
will be sufficient find (at least) a non-gradient function F(x,t) to make the (P4’) true, what
will be Yes the answer to the problem (P4). If the answer was No then there would not be
breakdown of solutions to the Navier-Stokes equations.

For case (C) of the Millennium problem we give as an example F(x,t) = (e‘xg,O, 0)
and in case (D), corresponding to spatially periodic solutions, we give as an example
F(x,t) = (cos(2mx,),0,0), trigonometric function of period 1. The one examples of limited
functions that meet the conditions of continuity, differentiability, no divergence, smoothness
(C*) etc. and also satisfy the equation (2) of the incompressible fluid. So there are cases of
inexistence of solutions for p in the Navier-Stokes equations, given u® u, F.

§ 5

This problem will check a sufficient condition for the absence of solution (3), and
consequently to (1). It is probably the most important demonstration of this article, which
summarizes the main idea of [2].

Including in (P4) the condition Vu(x, t) /u(x, 0) = u®(x) we come to
(P5)  Ju’(x) = u(x,0),3F(x,t), Vu(x, t) /u(x,0) = u°(x),a(u,p)/
Vp =vV2u—‘;—:—(u-V)u+F?

which requires that your answer is valid for any velocity u(x,t) possible and complying to
u(x,0) = u®(x). It will not be enough, however only one or a few examples of velocities, as it
is possible in (P4).

Equating the right side of equation (P5) to ¢ as done in (3) if ¢ is non gradient then
equation (P5) does not admit solution. So when the function F is equal to

(8) F=¢—VV2u+%+(u-V)u



the differential equation to be solved is equal to (5), which has no solution for non-gradient ¢.
Let us choose for this reason the force F given in (8).

This is an explicit example of force which varies with velocity, so each u(x,t) that
checks (P5) will generally have a different F(x, t), so, F(x,t) = H(¢(x,t),u’(x),u(x,t), x, t).
We see that such a definition for F does not violate the condition 3F (x, t) of this problem, for
this reason we use it. It may seem an invalid procedure, but it is in accordance with the reading
that is done in [1].

Thus we find a way to construct F which always results in inexistence of solutions to
(3), so defining ¢ a non gradient function, the answer to (P5) is Yes, there are cases of
breakdown (inexistence) solutions for Navier-Stokes equations. We turn through (8) the
original equation (1) in equation (5), a problem that has already been answered also
affirmatively in (P1).

§6

Alternatively, rather than a variable force with the velocity, one can choose, for
example, F =0, a non-gradient initial velocity u°(x) or equal to zero (to facilitate the

calculations) and an additional initial condition a_‘Lttlt=O = a®(x) (can be a®(x) = 0 or a non-

gradient function) resulting to (3), at time t = 0, a non-gradient function ¢.

The new problem in this case is

(P6)  Ju®(x) = u(x,0),3a’(x) = (;—1: l¢=0, 3F (x,t), Vu(x, t) /u(x,0) = u°(x), a(u,p)/
Vp =vV2u—Z—Z—(u-V)u+F?

Answer: Yes.

The breakdown of the solutions occurs (at least) at t = 0, since at this instant the
right side of the differential equation (P6) is a non-gradient function, and therefore the
pressure p cannot be calculated (meaning it does not exist). The example F = u° = 0 will
result in Vp° = —a®(x), for p°(x) = p(x, 0) and non-gradient a®: equation with no solution.

Both in this problem as in previous ones, we are assuming, of course, that the
functions u° a® F chosen obey all conditions of "well-behaved" functions, physically
reasonable, described in [1], as well as the function u® must also comply (2).

It is noticed that more important than this specific treatment in relation to Navier-
Stokes (valid for the Euler equations) is its application to various other equations also exist. We
found a logical equivalence and a useful technique.

Wir miissen wissen. Wir werden wissen.
(We need to know. We will know.)
David Hilbert
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§1

Minha intencdo neste pequeno artigo é transformar através de equacdes diferenciais
mais simples o problema sobre as equacdes de Navier-Stokes, descrito especialmente na
pagina do Instituto Clay[”, de modo a tornar sua solugao mais compreensivel, facil e aceitavel.

As opg¢des que percebemos como possiveis de serem resolvidas dentre as quatro
alternativas disponiveis em [1] sdo as provas de inexisténcia de solucdes (breakdown) para as
equacdes de Navier-Stokes, que correspondem aos casos (C) e (D) descritos em [1], sendo o
primeiro destes casos referente as solu¢Ges em geral e o segundo especifico as solucGes
espacialmente periddicas. O problema conforme proposto esta restrito a n = 3 dimensdes
espaciais.

Nossos estudos preliminares sobre o assunto ja foram dados em [2] e de forma
abreviada em [3], e aqui pretendemos resumir ainda mais nossas conclusdes sobre estas
equagdes em uma pequena demonstragdo bdsica “padrao”, aceitdvel inclusive para ser uma
demonstragdo que possa (eventualmente) ser dada como resposta a uma questdo de disciplina
universitaria, sem precisar gastar horas e mais horas em sua solugdo ou paginas e mais paginas
na demonstracdo, mas t3o rigorosa quanto possivel. Propositalmente este é um artigo que
pode ser considerado pequeno, adequado (acreditamos) a um aluno de Engenharia, mas
também a alunos de Fisica, Meteorologia, Oceanografia, Geofisica, Astronomia e mesmo de
Matematica. Entendemos a importancia pratica deste assunto.

A equacdo de Navier-Stokes, em forma vetorial, pode ser escrita como
ou 2
(1) E+(u-V)u=vVu—Vp+F,

para u, F:R" x [0,00) > R" e p:R" X [0,0) = R, onde u é a velocidade do fluido, F a
“forga” externa aplicada (por exemplo, gravidade), p a pressdo e v o coeficiente (constante) de
viscosidade, medidas feitas na posicdo x € R™ e tempo t = 0,t € R (chamamos por habito
equacdoes de Navier-Stokes, no plural, quando pensamos nas respectivas equagdes das suas n
componentesi,1 < i < n).
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Costuma-se juntar a (1) a condicdo de incompressibilidade (densidade de massa
constante na equacdo da continuidade)

p O dw | dup  dus
=19x; — 8x,  0x,  0x3

(2) Viu=Y =0 (n=3),

condicdo esta que também deve ser satisfeita para atender [1]. No que segue estard
subentendido que estamos nos referindo sempre a dimensao espacial n = 3.

Outra forma de escrever (1) é
(3) szszu—%—(u-V)u+F=<p+F=¢.

Chamando de ¢ o lado direito de (3), a solugdo de (3) para p, quando existe, é dada
por

(4 p=J, ¢-dl+o@),

sendo L um caminho continuo por partes de classe C! que vai de x, a x,com x4, x € R3.
Suponhamos 6 continua, limitada e diferencidavel em t = 0. Também supomos que L n3do passe
por nenhuma singularidade de ¢.

De (3) vemos imediatamente que (1) pode ser transformada na equacdo diferencial
mais simples

(5)  Vp=9, ¢(x, ): R* X [0,00) > R?,

que so terd solugdo se ¢ for um campo gradiente, i.e., conservativo, e sua solu¢dao neste caso é
(4). A referéncia [4] contém a teoria basica sobre os campos gradientes.

Nosso problema central pode entdo ser escrito assim, simbolicamente e em forma de
pergunta (uma sentenca légica e uma interrogacao):

(P1)  3¢°(x) = ¢(x,0), A(¢,p)/ Vp = ¢?

Se ¢°(x) for um campo n3o gradiente entdo ¢ (x,t) é ndo gradiente em t = 0, ent3o
(a0 menos) em t = 0 ndo ha solugdo para Vp = ¢, qualquer que seja ¢(x,t) com ¢(x,0) =
¢°(x) ndo gradiente.

A resposta para (P1) é Sim, e teriamos que buscar algum ¢°(x) n3o gradiente para
exemplificar a verdade da sentenca logica. Vejam que podemos encontrar muitos exemplos de
funcdes ¢ (x, t), inclusive para poder valer ¢°(x) = ¢(x, 0), porém o que ndo existird usando
nosso exemplo é a fungdo p. Em nossa prova a fungdo ¢ (x, t) devera existir, para que também
exista d)o(x), e assim provaremos a inexisténcia de p.

Uma equivaléncia légica que representa a inexisténcia do par de variaveis (¢, p) como
utilizada em (P1) é

(6)  A(p,p) « (FPAIPIV(EP AAP)V(AP A ED)),



e das trés alternativas possiveis descritas acima para provar a inexisténcia do par (¢,p)
escolhemos a existéncia de ¢ com a inexisténcia de p, i.e.

(7) (3¢ Adp) > A(¢,p).

Neste e nos problemas que seguem admitimos que p: R® X [0, ) — R é uma funcio
escalar e todas as outras fungdes s3o vetores com imagem em R3.

§2

Uma variante de (P1) é dada pelo problema (P2) a seguir.
(P2)  3¢9°(x) = ¢(x,0),3F(x,t),4(p,p)/ Vp = @ + F?

Busquemos novamente a quebra das solugdes em t = 0. Se ¢p° = ¢° + F(x,0) for
nao gradiente entdo em t = 0 a equagdo Vp = ¢ + F ndo tera solugdo, o caso de quebra de
solucBes. Resposta: Sim, e para que a sentenca logica em (P2) mostre-se verdadeira
deveremos buscar ¢°(x) e F(x, t) cuja respectiva soma em t = 0 resulte em um campo ndo
gradiente.

§3

Nosso terceiro problema é uma versdo facilitada de (3), onde substituimos Vp por P,
com P:R3 X [0, ) - R3.

(P3)  Ju°(x) = u(x,0),3F(x,t),4(u,P)/ P = v V?u— % —(w-V)u+F?

Ao contrdrio das duas respostas anteriores, desta vez a resposta é Ndo. Supondo que a
operagao VVZu—Z—t— (u+V)u + F possa ser computada, i.e., que para todo u(x,t) com
u(x,0) = u®(x) existam as derivadas parciais de u em relagdo as coordenadas espaciais até a
segunda ordem e em relagao ao tempo até a primeira ordem e que exista o respectivo valor
computavel para P, entdo sempre existem u e P que satisfagam a equacao diferencial dada em
(P3), de maneira muito ébvia. Dado u com u(x,0) = u® entdo P, em Ultima andlise, é o
resultado de uma computagdo algébrica, por mais complicadas que sejam as derivagdes
envolvidas, i.e., é falsa a afirmacdo A(u, P) em (P3). Ndo parece ser o foco de [1] a busca de
alguma funcdo “patoldgica”, alguma funcdo estranha, rara, para u°,u ou F tal que a equacdo
dada em (1) nem sequer possa ser computada (com a possivel exce¢do de Vp). Pelo contrario,
[1] preocupa-se com fungdes e solugdes fisicamente razoaveis, e elenca varias condi¢gdes que
devem ser obedecidas por u°,u, F, p.

§4

Aqui trataremos do problema principal, que corresponde a uma condi¢do necessaria
para a inexisténcia de solugdo para (3), e consequentemente de (1). E uma das provas que
pretendemos dar como padrdo aceitavel.

(P4)  Fu°(x) = u(x,0),3F(x,t),2(u,p)/ Vp = v V?u — % —(u-V)u+F?



Se 3u’(x) = u(x, 0) entdo deve existir u(x,t) ao menos em t = 0. Como buscamos
solugBes para (1) em todo t = 0 entdo podemos supor a existéncia de u(x,t) em t = 0, por
hipétese. Além disso, o problema original em [1] define que o dominio D(u) de u seja
R3 X [0, ), ou seja, podemos supor por hipétese a existéncia de u em todo t > 0,t € R, e
para todo x € R3.

A afirmagdo A(u,p) ndo implica apenas em (Au A ZAp). Optaremos por encontrar
algum campo vetorial de velocidades u, com u(x,0) = u° dado, tal que n3o exista pressdo p
alguma que satisfaca a equacao diferencial dada em (P4), igual a (3).

Assim sendo, chegamos a
(Fu(x) = ulx, 0))A(D(w) = R3 x [0,%0)) - Ju: R3 x [0, )
(P4)  (QuA#p) > Bwp) /Vp =vVPu—2o— (u-Vu+F = ¢,

Se o campo ¢ em (P4’) for ndo gradiente entdo ndo haverd p que satisfaga a requerida
equacio, e existem infinitos exemplos de u®, u, F que podem ser dados tais que resultem em
campos ¢ ndo gradientes. O mais simples exemplo que penso sdo as velocidades u(x,t) =
u®%(x) = 0, e assim bastara encontrar (a0 menos) uma fungdo F(x,t) nio gradiente de modo
a tornar (P4’) verdadeira, o que fara ser Sim a resposta para o problema (P4). Se a resposta
fosse Nao entdo ndo haveria quebra de solugdes para as equagdes de Navier-Stokes.

Para o caso (C) do problema do milénio damos como exemplo F(x,t) = (e_x%, 0,0)e
para o caso (D), correspondente as solucGes espacialmente periddicas, damos como exemplo
F(x,t) = (cos(2mx,),0,0), fungdo trigonométrica de periodo 1. Sdo exemplos de fungdes
limitadas que obedecem as condi¢cdes de continuidade, derivabilidade, ndo divergéncia,
smoothness (C®), etc. e também satisfazem a equacdo (2) dos fluidos incompressiveis.
Portanto existem casos de inexisténcia de solugdes para p nas equag¢des de Navier-Stokes,
dados u®,u, F.

§5

Neste problema verificaremos uma condigdo suficiente para a inexisténcia de solugdo
para (3), e consequentemente de (1). E provavelmente a mais importante demonstragdo deste
artigo, que resume a ideia principal de [2].

Incluindo-se em (P4) a condi¢do Vu(x, t) /u(x, 0) = u®(x) chegamos a

(P5)  Fu°(x) = u(x,0),3F (x,t), Vulx, t) /u(x,0) = u°(x),A(u,p)/
Vp =VV2u—%—(u-V)u+F?

que requer que sua resposta seja valida para qualquer velocidade u(x,t) possivel e que
obedega a u(x, 0) = u®(x). N3o bastara, portanto, apenas um ou alguns poucos exemplos de
velocidades, como é possivel em (P4).

Igualando o lado direito da equagdo em (P5) a ¢, conforme feito em (3), se ¢ for ndo
gradiente a equag¢do em (P5) ndo admitira solugdo. Entdo quando a fungdo F é igual a
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(8) F=¢—vV2u+%+(u-V)u

a equacdo diferencial a ser resolvida é igual a Vp = ¢, que ndo tem solugdo para ¢ ndo
gradiente. Escolhamos por essa razdo a forca F dada em (8).

Este é um exemplo explicito de for¢a que varia com a velocidade, portanto a cada
u(x,t) que verifigue (P5) teremos em geral um F(x,t) diferente, ou seja, F(x,t) =
H(#(x,t),u’(x),u(x,t),x,t). Vemos que tal definicdo para F n3o viola a condi¢do 3F (x,t)
deste problema, por isso a utilizamos. Pode parecer um procedimento invalido, mas esta de
acordo com a leitura que se faz de [1].

Encontramos assim uma maneira de construir F que resulta sempre em inexisténcia de
solugBes para (3), por isso, definindo ¢ uma fungdo ndo gradiente, a resposta para (P5) é Sim,
existem casos de quebra (inexisténcia) de solugbes para as equacbes de Navier-Stokes.
Transformamos através de (8) a equacdo original (1) na equagdo (5), problema que ja foi
respondido, também afirmativamente, em (P1).

§6

Alternativamente a uma forca varidavel com a velocidade pode-se escolher, por

exemplo, F = 0, uma velocidade inicial u°(x) n3o gradiente ou igual a zero (para facilitar os

. s e .. Ju
calculos) e uma condigdo inicial adicional Elt:o = a’(x) (podendo ser a®(x) = 0 ou uma

fungdo ndo gradiente) que resultem para (3), em t = 0, uma fungdo ¢ ndo gradiente.

O novo problema neste caso é

(P6)  Ju’(x) = u(x,0),3a’(x) = (;—1: lt=0, IF (x,t), Vu(x, t) /u(x,0) = u°(x), a(u,p)/

Vp =vV2u—‘;—:—(u-V)u+F?
Resposta: Sim.

A quebra das solugGes ocorre (pelo menos) em t = 0, pois neste instante o lado direito
da equagdo diferencial de (P6) sera uma fung¢do ndo gradiente, e por isso a pressdao p ndo
poderd ser calculada (significando que n3o existird). O exemplo F = u® = 0 resultard em
Vp® = —a®(x), sendo p°(x) = p(x,0) e a® n3o gradiente: equagdo sem solugdo.

Tanto neste problema quanto nos anteriores estamos admitindo, evidentemente, que
as funcdes u% a® F escolhidas obedecem a todas as condi¢des de fungdes “bem
comportadas”, fisicamente razodveis, descritas em [1], assim como a funcdo u® também deve
obedecer (2).

Percebe-se que mais importante que este tratamento especifico em relagdo a Navier-
Stokes (valido para as Equacbes de Euler) é sua aplicagdo a varias outras equagdes que
também existem. Encontramos uma equivaléncia légica e uma técnica Uteis.

Wir miissen wissen. Wir werden wissen.
(NGs precisamos saber. NOs iremos saber.)
David Hilbert
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